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1. $2000is invested at m&xm::ca for 10 <mm_‘m cmﬁm_.amzm the accumulated amont if the
interest is compounded: -
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2. How long will it take an _:<mmw3m:ﬁ of $700 to double in <mEm at a rate o* wx\m::c_\s

compounded monthl o mw 13
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3. Acertain element has a wm:‘cm;m oﬁHN days.

a) _n_dE a 50 mg sample, how much will remain after 20 days?
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b) How long will it take the 50 mg sample to n_mnm< to 10 Emu
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4. Acar amu_,mn_mﬁmm in value by 8% um« year. s_n",<oc bought a new car for $30,000, :oé.gcnr_

will it be worth in 5 years? [~ &.0¥
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“5. The uonc_mco: of a town is amnqmmmsm each year. 8 years ago the population was 500,000
and is now 400,000. At what rate is the town decreasing? e
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6. The population of germs on a door rw:&m doubles every 5 minutes. If there are now
100,000 germs on the door, _.6<< many germs was ﬁ:mqﬁp :oc_. mmw% L bieud E Gn sl
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